Signature and Name of Invigilator

1.

2.

12

Time : 1¥4 hours]

(Signature)
(Name)
(Signature)
(Name)

1|5

OMR Sheet NO. :..........ccocueereireciereesenrenciecseeaenans
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

PAPER - 11
HOME SCIENCE

[Maximum Marks : 100

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 50

N

N

10.
11.
12.
13.

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) Q) @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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are compulsory.
The active form of Vitamin D is :
(1) Ergosterol (2)  Ergocalciferol

(3)  Cholecalciferol (4) Dihydroxycholecalciferol

Following food is the richest source of w-3 fatty acids :

(1) Coconut (2) Flax seed (3) Olives 4)

A la carte menu is :

(I) Served on a particular day as special

(2) Limited choice of fixed price

(3)  Choices of items listed with its price

(4) Series of dishes repeated after a period of time.

Which of the following is a theory of origin of clothing :

(1) Protection (2) Conformity (3) individuality 4)

This paper contains fifty (50) objective type questions of two (2) marks each. All questions

Groundnut

Track down

Organization responsible for preventing unfair or deceptive trade practices in textile and

textile products is :

(1) AATCC
(2) Federal Trade Commission (FTC)
(3) Textile Fibre Products Identification Act (TEPIA)
(4) ASTM
s [JEAANENN :
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6.  The pictorial view of the proposed house is called :
(1) Elevation plan (2)  Cross section plan
(3) Perspective plan (4) Floor plan
7.  Development resulting from on going exchanges between heredity and all levels of the
environment is called :
(1) Cephalocaudal (2) Proximodistal (3) Genotypical (4) Epigenesis
8.  Extension uses which of the following as a tool to motivate people to change their behaviour ?
(1) Social work (2) Communication (3) Diagnosis (4) Analysis
9.  Which one of the following models use only three elements to explain the process of
communication ?
(1) Westley and Machlean’s model (2) Berlo’s model
(3) Leagan’s model (4)  Aristotle’s model
10. Since the population size is always larger than the sample size, the sample statistic :
(1) Can never be larger than the population parameter
(2) Can never be smaller than the population parameter
(3) Can never be equal to the population parameter
(4) None of the above answers is correct.
11. Following are disorders of vitamin A deficiency :
(i) Xeropthalmia (i) Night Blindness (iii) Oesteoporosis
(iv) Cretinism (v) Kerotomalacia
Code :
(1) (i), (iv) and (v) (2) (i), (iii) and (iv) (3) (i), (i) and (v) (4) (i), (iii) and (v)
pass || ‘
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12. Following foods have Glycemic Index less than 50% -

(i) Soya bean (i) White Wheat Bread (iii) Apple

(iv) Boiled Rice (v) Methi

Code :

(1) (@), (d)and (v) (2) (i), (ii)and (iv) (3) (@), (iii) and (iv) (4) (i), (iii) and (v)
13. Architectural features of a Kitchen will include :

(i)  ventilation (i) Plumbing (iii) Acoustics

(iv) BARS (v)  Floor

Code :

1) @) @) (v), @) (2) 606,36 ) @) dAv),(v) @) (), () ()0
14. Which of the following are not dart equivalents ?

(i) Control seam  (ii) Ruffles (iii) Frills (iv) Gathers

Code :

(1) (i) and (ii) (2) (ii) and (iii) (3) (iii) and (iv) (4) (i) and (iv)
15. Which of the following fibres are obtained from plant leaf.

(i) Pina (i) Sisal (iii) Kapok (iv) Coir

Code :

(1) (@) and (ii) (2) (i) and (iii) (3) (i) and (iv) (4) (i) and (iv)
16. One can bring changes in hand and body motions through.

(i)  Elimination of unnecessary movements

(i) Developing skills

(iii) Adopting a comfortable posture

(iv) Improving sequence of work.

Code

(1) (@), () and (i) (2) (i), (iii) and (iv) (3) (i), (iii) and (iv) (4) (i),(ii),(iii) and (iv)
pass || 6
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17. The major characteristics of high quality child care include.

(i) air conditioners are important

(i) Carers are well trained

(iii) Materials and activities are age appropriate

(iv) Computers are used

(v) Health and safety standards are high

Code

M) @), G, 6 @ )66 @) 066 @) )W), o)
18. The functional literacy programmes aim at enabling illiterate adults to acquire basic skills in:

(i) Reading (i) Writing (iii) Arithmetic

(iv) Vocation (v) Organisation

Code :

(1) (@), (), (iii) and (iv) (2) (i), (iii), (iv) and (v)

(3) (i), (i), (iv) and (v) 4) (@), (i), (iii) and (v)
19. Effective Development Communication is influenced by which of the following factors ?

(i) Dissemination of Information (ii) Use of the Information by users

(iii) Location of the users (iv) Size of the audience

Code :

(1) (@) and (ii) (2) (ii) and (iii) (3) (i) and (iv) (4) (i) and (iv)
20. An experimental research design incorporates

(i) Random assignment of participants to treatment conditions

(ii)  Effect on a dependent variable recorded

(iii) Observe placebo effect

(iv) Manipulation of independent variable

(v) Increase attrition

Code

O 066 @ Q)66 @) @) ,0 @ 66 6
yaans AN :
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21. Assertion (A) : In chronic Renal failure glomerular filtration rate falls to less than
15 ml/min.
Reason (R) : The chronic Renal failure patients are recommended diets high in protein
and sodium.
Code :
(1) (A) is correct and (R) is incorrect (2) (R) is correct and (A) is incorrect
(3) Both (A) and (R) are incorrect (4) Both (A) and (R) are correct
22. Assertion (A) : Persons with BMI between 18 - 25 Kg/m? are classified as obese.
Reason (R) : Reduced physical activity and high intake of junk foods leads to obesity.
Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3) (A) is incorrect and (R) is correct (4) (R) is incorrect and (A) is correct
23. Assertion (A) : A system can be stated to be a set of interdependent parts.
Reason (R) : A system is based on demand pull rather than supply push.
Code :
(1) Both (A) and (R) are incorrect
(2)  (A) is correct but (R) is incorrect
(3) (A) is incorrect but (R) is correct
(4) Both (A) and (R) are correct but (R) is not the correct explanation.
24. Assertion (A) : While washing woollen garments kneading and squeezing method is used.
Reason (R) : Scaly structure of wool cause felting due to friction.
Code :
(1) Both (A) and (R) are incorrect
(2) Both (A) and (R) are correct and (R) is the correct explanation.
(3) (A) is correct but (R) is not the correct explanation
(4) (A) is incorrect but (R) is correct.
25. Assertion (A) : Terry Towel is the most absorbant fabric structure
Reason (R) : Itis a cut pile hence more surface area to absorb water.
Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3) (A) is correct, but (R) is incorrect (4) (A) is incorrect, but (R) is correct.
s [NV 1
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26. Assertion (A) : A family functions as a system
Reason (R) : Itis a set of parts coordinated to accomplish a set of goals
Code :
(1) Both (A) and (R) are correct (2) Both (A) and (R) are incorrect
(3)  (A) is correct, but (R) is wrong  (4) (A) is wrong, but (R) is correct.
27. Assertion (A) : Juveniles in conflict with law are children below sixteen years of age who
have committed a crime.
Reason (R) : Children who are less than 16 years are considered innocent and pure and
are given less punishment for their crime.
Code :
(1) (A) is correct and (R) is incorrect
(2) (A) and (R) are both incorrect
(3)  (A) is correct but (R) is not the correct explanation of (A)
(4) (A) and (R) are correct and (R) is the correct explanation of (A)
28. Assertion (A) : Androgogy is an art and Science of teaching children.
Reason (R) : Androgogy is based on understanding about adults and their designative
learning behaviour.
Code :
(1) Both (A) and (R) are correct
(2) Both (A) and (R) are incorrect
(3)  (A) is correct, and (R) is incorrect
(4)  (A) is incorrect, and (R) is correct
29. Assertion (A) : Learning is facilitated when a new behaviour contributes to satisfy felt needs
on the point of learners.
Reason (R) : Learning is facilitated when two or more sanses are used at a time by the
learners.
Code :
(1) Both (A) and (R) are correct and (R) is not the correct explanation for it.
(2)  (A) is correct and (R) is incorrect
(3) (A) is incorrect and (R) is correct
(4) Both (A) and (R) are correct and (R) is the correct reason for it.
s [N 1
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30. Assertion (A) : Whensample size is small and/or data are badly skewed (so that assumption
of normality is doubtful) parametric methods are not applicable.
Reason (R) : In parametric tests we can assume that scores upon which our statistics are
based are normally distributed in the population.
Code :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are not correct
(3)  (A) is correct and (R) is incorrect
(4) (A) is incorrect and (R) is correct
31. Give the correct sequence for Marketing strategy.
(i) Promotion (i) Packing (i) Analysing (iv) Developing
(v) Distribution (vi) Pricing
Code :
D (), (i), (), @), (v), (vi)
(2) (@), (vi), (v), (i), (i), (v)
(3) (i), (iv), (if), (vi), (v), ()
@) V), (vi), (i), (iid), (i), ()
32. Arrange steps of planning diets in correct sequence
(i) Determine RDA as per individual specific characteristics
(i) Decide on the menu
(iif) Calculate Nutritive value of diet and compare with RDA
(iv) Decide total food exchanges and distribute in different meals.
Code :
(1) (@), (), (iii) and (iv) (2) (@v), (iii), (ii) and (i)
(3) (@), (dv), (ii) and (iii) (4) (i), (iii), (iv) and (i)
pass | A 1
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H/RUT (R) :  UTafcieh TO&0N o, T Hodal & ahd § (o TS WTdishl TR ARy Hifeasht e
T o g § 9= w9 ¥ foaafid e € |

e :

(1) (A) 3R (R) I T&I € IR (R), (A) FT T&I A T |

(2) (A) 3R (R) S Tt 7 T

(3) (A) & T 3R (R) Td & |

(4) (A) 7A€ AR (R) T B |

forqui s 1 W&t STk Sy

() e (i) O (iii) ferwerm (iv) fowfaa e

(v) foaao (vi) whima fuRo

< :

1) @), (i), (), (iv), (v), (vi) (2) (), (vi), (iv), (iid), (ii), (v)

(3) (i), @iv), (), (vi), (v), (1) 4)  (v), (vi), (iv), (i), (ii), (i)

IS 1 IS H & 00 ! T H H E

() TH AfdETd foRvar o STER ARELT, H1 9o &L |

) W9 difereRt 1 feEE &Y

ofie H diftces Tl St TUAT HE IR IHHT AR, F A H |

Trqul el fafrel 1 feem Y R 3% [T o @ S o Wis | foaia a3

(ii
(iif)
(iv)
< :

1) (i), (i), (iii) 3R (iv) 2)  (iv), (iii), (ii) 3R (i)

) (4) (i), (iii), (iv) 3R (i)

(ii
AN 1

(
3) (), (iv), (i) 3R




33.

34.

35.

)
s ]

Give the correct sequence of steps in the preparation of quava jelly.
(i) Cut quavas in slices

(i) Cook quava slices for 40 -45 minutes

iii) filter the contents through muslin cloth without pressing

iv) Add sugar and acid to extract and cook.

(

(

(v) Perform sheet test for readiness.

(vi) Perform alcohol test to find out pectin content
(

vii) Fill the contents in sterilized bottle

Code

1) (), (i), (iii), (v), (vi), (iv) and (vii)
@) (), i), (i), @iv), (v), (vi) and (vii)
@) (), (ii), (iii), (vi), (iv), (v) and (vii)
@) (), (ii), (iii), (v), (iv), (vi) and (vii)

Give the correct sequence of printing :

(i) Drying (i) fixing the dyestuff

(iii) Washing off (iv) Preparation of printing Paste
(v)  Preparation of fabric (vi) Printing of fabric

Code :

1) (), @), (vi), (i), (i), (iii) 2) (), (@), (), (i), (vi), (iii)

() @), @) (i), (), (v), (vi) ) (vi), (i), (i), (i), (iv), (v)

Give the correct sequence for manufacturing of Rayon :

(i)  Shredding (i) Dissolving (iii) Xanthation
(iv) Ageing (v) Steeping (vi) Spinning
Code :
1) @), (i), (), @(v), (v), (vi) 2) ), (), (iv), (i), (i), (vi)
(i), (i), (iv), (v), @), (vi) 4) (), (), (iv), (i), (@), (vi)
AICRAE A 1




33. 3THEES &l Sioil oM 1 fafy & =won sl 98 w9 § e

() STTES T FHafadl | we |

(i) STH®S & Haterdl =l 40 -45 e T Toed
(iii) fago w1 7ER FUL | fo T oW BE A |
(iv) Trare # = iR o1t T/ R U |
(v) SO 1 S & fa wie Tw wl)
(vi) USRI T AT H A9 & T Yokl SR wL
(vii) THOT I SEmER Tda™ ¥ 25 |
e :
(1) @), (), i), (v), (vi), (iv) 3R (vii)
@ () ), (i), (), (v), (vi) SR (vii)
3) (), (i), (i), (vi), (iv), (v) R (vii)
@ (@), (i), (i), (v), @), (vi) 3R (vii)
34. BUE 1 HE HA GC
(i) g@m (i) TME U Y S (iii) e
(iv) faf= o= =t T (v) IS & A (vi) HIS T DUE
%<
1) (v), (v), (vi), (i), (ii), (iii) 2)  (v), (), (@), (i), (vi), (iii)
G) (@), (i), (i), (v), (v), (vi) (4)  (vi), (), (D), (i), (iv), (v)
35. & fmio & &1 98 %A S
() THS (ii) e (iii) SrEEH
(iv) WS (v) o (vi) @RI
< :
1) @), (), (i), (v), (v), (vi) 2) (), @), (v), (i), (i), (vi)
(3) (i), (i), (iv), (v), (), (vi) 4)  (v), (i), (iv), (i), (i), (vi)
s AN L
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36.

37.

38.

39.

Arrange the steps involved in implementing a plan in the proper sequence.

(i)  Controlling (i) Checking (iii) Activating
(iv) Adjusting (v) Facilitating.

Code :

® @), @), (i), (), (v) (2) (i), @), (i), @v), (v)

(3) (i), (), (v), (i), (v) 4 () (i), (), @v), (v)

Arrange in order of development of self concept.

(i) Remembered self in the form of story develops
(ii) Social comparison emerges

(iii) Self concept includes abstract descriptions

(iv) Self recognition established

(v) Categorical self develops

Code :
1) (v), (iv), (i), (i), (ii) (2) (@), (v), (i), (i), (iD)
(3)  (v), (iv), (i), (iD), (iii) 4) (@), (v), (i), (D), (iid)

The steps involved in ‘Problem-solving’ used while implementing an extension Programme
are :

(i) Hypothesizing or proposing an explanation.
(i) Communicating Results

(iii) Becoming Aware of the Problems

(iv) Drawing Conclusion

(v) Experimenting - Testing Ideas.

Code :
) (i), @) (v), ), @) @ (i), @), v), (@), @)
(3) (i), (v), (i), (iD), (iv) 4) (), (v), (@), (iv), (iii)

Arrange the following milestones in National development in the chronological order :
(i) National Rural Livelihood Mission.

(ii) Right to Education Act

(iii) Right to Information Act

(iv) National Rural Employment Gurantee scheme

(v) Swach Bharat Abhiyan

Code :

M @), ), i), @), ) @) (i), (v), (i), @), (v)

(3) (i), (i), @), (v), (v) () (i), v), (), (i), (v)

s [ JEHANENN 1



36.

37.

38.

39.

s ]

T A1 ! TRanfad & @ S |iaml i 3f9a o A § Safid S :

() FE=m w5 (i) S T (iii) TR HT
(iv) STJhfetd T (v) G T

®RE :

1) (@), (), (i), (i), (v) (2) (i), (i), (i), (iv), (v)

(3) (i), (i), (iv), (ii), (v) 4) (1), (i), (i), (iv), (v)

@ - YR & fae™ @l wEgar fafen
(i) TF h1 HIHE & €I H T
(i)  STTIH G HT Yhe B

(ili) T-HRon H S7d i e g
(iv) TE-TEH TIfud |

(v) GHE=a ‘e’ o

< :
D (), (), (i), (i), (i) 2) (), (v), (i), (i), (i)
@) (v), (iv), (i), (i), (iii) (4) (), (v), (i), (i), (i)

THR KA & Tohameae & T09 G9E Sy % o 39an TRt ST 9l 99 ©
()  IREHT HEAT AT TR T TS TG

(ii) 9RO AT

(iii) ST @ ST B

(iv) Tr=md femmer

(v) fo=mi &1 ganietr - qiia

e :

1) (i), @), (v), (i), (iv) (2) (i), (@), (v), (iv), (i)

(3) (i), (v), (), (i), (iv) (4) (i), (v), (i), (iv), (iii)

T foaen # Frefafad Teequl selel i HaTdhias wH H Fareed Sy
() T g Siifaest stfyEm (i)  Torem 1 sty eAfufrem

(i) GO AfgEHR *1 rfafEm (iv) U IO SR TR ThiA
(v) TE=S WRA AN

e :

1) (), (i), (111) ( ) (V) (2) (i), (@), (i), (@), (v)

(3) (i), (i), 4) (i), (v), (i), (i), (iv)
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40. Arrange in order the steps in testing for statistical significance :
(i)  Select the statistical test to be applied
(if) State the research question
(iii) Compute the test statistic
(iv) State the null and alternate hypothesis
(v) Compare the test statistic with the critical value

(vi) Interpret the results.

Code :
M) (@), @), (iv), (i), (vi), (v) (2) (), (i), (iv), (i), (v), (vi)
(@) (i), (iv), (@), (v), (i), (vi) 4) (i), (iv), (i), (i), (v), (vi)

41. Match the active component given in List - I with food sources in List - II :

List - I List - II
(a) Lycopene (i) Cloves
(b)  Flavonoids (if) Turmeric
(c) Selenium (iii) Sea foods
(d) Vitamin E (iv) Garlic
() Coumarin (v) Tomatoes

(vi) Wheat germ
Code :
@ () © (@ (o)
M ® O @ @ @
@ w6 ¢ o @
@) @ ) O ) @
@ (v (@) (i) (vi) (@)
s (NI

I 2



40. Gifersg Fenedar S & T 93870 § 9raEl & v H SFaRed ST
() 9gF fhU S 9l wifersa T &1 =24

(i) Y G A

(i) OEIUT SRS T IR

(iv) ¥ Td dhfeudh IR T T

(v) T8I0 3Tihs i ShIf<aeh qod o WY qarl
(vi) IRoEl St =T

e :
@D @), (), @(v), (i), (vi), (v) (2) (), (@), @iv), (i), (v), (vi)
(3) (i), ({v), (), (v), (i), (vi) (4) (i), (iv), (i), (i), (v), (vi)

41. I - 19 fou 9fha sreeri 1 geit - 11 ¥ ST 7C @ & &id & e gafed Hifeg

Tt - 1 Tt - 11
(a) TSI G @
(b) TS (i) we
(c) fTafafmm (i) Hqfs T e
(d) o ‘g’ (iv) =Y
(e) FHIA (v) A

(vi) T HT g

HE :

@ () (o (d) (e
M v @ Gv) (@) (i)
@ © O ) @) (i
() @) (v @O () (i)
@) () (v) @) (vi) (i)

pass [N

I 2



42. Match physiological group given in List I with RDA of protein (ICMR 2010) given in List II

List I List II
(@) 5yrsold girl (i 295 g./day
(b) 9 yrs old boy (i) 60 g /day
(c) 16 yrsold girl (i) 20.1 g /day
(d) Adult male (iv) 78 g/day
(e) Pregnant women (v) 68 g/day
(vi) 55.5 g/day

@ () (o (@ (o)

1 G @O (v G )
(2) @) @) (vi) @ @)
G @) @ @ &) O
4) @) @O (i) @) (V)

43. Match the persons in List - I with theories proposed in List - II :

List - I List - II
(a) Vroom (i)  Goal theory
(b) Herzbergs (i) E.R.G. theory
(c) Locke (iii) Equity theory
(d) Maslow (iv) Expectancy theory
(e) Alderfor (v) Two factor theory
(vi) Hiearchy of needs

Code :
@ (b (© (@ (e

® @ @ (v 3§ (vi)
(2 @ @) @ @) (v
G @) v @O ) (i
@) () @ @) @) @
s [ JEHANENN 2




(a)
(b)
(©)
(d)
(e)

T 1

5 a4 &1 ASh!
9 g9 1 ASH
16 9 T TASH!
& el
Teferdt wfgen

\-/

el 11
29./5 W/

i) 60.0 T/fTw
iii) 20.1 71/3fFw

78.0 I/efTew
68.0 I/

) 555 U1/

. gE - 1H fou sl 1 gt - 111 U ST gwarfad fagi o 91y gfad i |
I

42. g 1 ¥ fou e (frfwsiientsen) w98 1 gt 11§ U Wfed & e (316 H.0H.8TR.
2010) o 1 aferd i |

e - Tl - 11
(@) oA () &g fag
(b) BSEH (i) 3. fagm
() dfh (iif) sforet/wwar fagr
(d) = (iv) ety fagr
(e) TTeThl (v) Tg %= fagm=
(vi) STEeIhdl st H0f sgal
%<
@ (®) (o) (d) (e
®» @ @ (v) () (vi)
2) @) @) @O @) ()
€) (iV) (V) (i) (vi) (i)
(4) (iv) (i)

|H\||\|H|\IIIH\IHHIII\HHHI\ 2
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44. Match the items from List - I with their description in List - II :

List - I List - II
(a) Body suit (i) Garment that hangs like a skirt but is actually pants.
(b) Culottes (ii) pants reaching below the knee
(c) Caftan (iii) One piece fitted garment
(d) Breaches (iv) Long full robe with a slit

(v) small skirt attached at waist

Code :

(@ (b) (o) (d)
O @ O ) G
@ G @) @ i)
@) ) O () G
@) © @) @) o

45. Match the counts given in List - I with their explanation given in List - II :

List - I List - II
(a) Cotton count (i)  Number of 1 km hanks that weigh 9 Kg
(b) Woollen count (i) Number of 560 yard hanks that weigh 1 Pb
(c) worsted count (iii) Number of 300 yard hanks that weigh 1 Pb
(d) Metric count (iv) Number of 840 yard hanks that weigh 1 Pb
(v)  Number of 1 Km hanks that weigh 1 Kg
Code :
@@ () (o (d)
D (v @) @) (V)
2 @@ O (@)
() Gv) (@) 0@ (V)
@) Gv) (@) (D) (v)
s [ JEHANENN 2




44, G - 1¥ fSU U w2 o1 Gt - 11 H ST U 37 i § gofea ST :

TqEt - 1
(a) dEtHe (i)
(b) reH (ii)
(c) wHad (i)
(d) fefes (iv)
(v)
FE :

@@ (b)) (o (d)

® @) @ () ()
(2) @) (v) @) ()
() @) @ (@) (@)
@ (v (@) @) @

Tt - 11
qae[d § AR The 1 ARG Tl ¢ |
Hed o e Tk ST ATl Jaed
T @UE fhices a8
feete & e o qu e
FH T M B Whe

45. et - 19 U T wee &1 get - 11 H T 7T 37k oA 9§ fiemy

el - 1
(a) ol w5 (i)
(b) T FTHe (ii)
(c) TTEE HEE (iii)
(d) #Hfgw e (iv)
v)
< :

@@ (b)) (o (d)

1 (v G 3§ (W)
@2 @ @@  d

®) (@v) @) G (V)
(

4
pass ]

v)

(
Il

ii)

(
i

iii)

et - 11
Tt forell a1 § T fohall HiE o= T=3191 i Q&
Teh UTSHE 9 B 560 TS TS =331 &t G&

T UISHE 9 | 300 TS Al A3l i GE&AT

Teh T8 a9 | 840 TS W&l ATs3141 ohi Gl

T fohall a99 H T fohall dX o= &1 a=314] i
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46. Match items in List - I with its characteristics in List - IT :

List -1 List - 11
(a) Vertical lines (i) gracefulness
(b) Horizontal lines (i) Movement
(c) Curved lines (i) Rest
(d) Diagonal lines (iv) Activity

(v) Exitement
Code :
@ ®) (© (@
M) ) ) @ @)
@ v G @ G
G) O @) Gv) ()
@ (@) (v @)

47. Match List - I with List - IT :

List - I List - II
(@) Klinefelter Syndrome (@) trisomy 21
(b) Turner Syndrome d)  xxy
() Down Syndrome (iii) xo
(d) Phenylketonuria iv) xyy
(v)  Inability to metabolize auinoacid
Code :
@ () () (d
@ @Gv) @) @ ()
2 @ @) @ (W)
@) @) G @ ()
(4) (@v) @) () @
ps ([ EALACHI 2




46. T - 11 ol - 11 % 91 GAfAd Hifeg

el - 1 Tt - 11
(a) SRR @Y (@) el
(b) &St @ (i) = (qEHe)
(c) TRTHRR @M (iti)  3TH
(d) HOE @ (iv) Tifafafy
(v) S
HE :

@ () (9 (d
(i) (v) (i) (iv)
(iv) (i
(@)

(i)

47. G - 11 G - 119 foam =L

T - 1 Tt - 11
(a) FAERTHCR fHgm () rEmE 21
(b) <R fagm (i) T.THE M.
(c) == fagm (iii) TS
(d) fHEEREgE (iv) TS Ts.
(v) STHIAI 3T o TAM=EA Sl STAFadl
FE :

(@ (b)) (o (d)
1 Gv) @) @O W
2 @ @) @O W
() @) @ O W)

@ i) () 3
s ||

(iv)

(
I

1l 2



48. Match the type of puppets in List-I with the state in which it is most popular given in List-1II :

List - I List - II
(a) Glove puppets (i) Rajasthan
(b) Rod puppets (i) Andhra Pradesh
(c) Shadow puppets (iii) West Bengal
(d) String puppets (iv) Orissa

(v) Assam

Code

@@ (b)) (o (d)
L G @ @
) Gv) (v) (D) (i)
() Gv) (@) @) @)
4 Gv) () () @

49. Match the basic area of self awarness as described by Johan's window given in List - I with
its explanation in List - II :

List - I List - II
(@) The open self (i)  All you know about your self and others.
(b)  The Blind self (i) All you know of yourself but dont let others know.
(¢) The unknown self (iii) All behaviour, attitude feelings that you know about
yourself and others also know about you.
(d) The Hidden self (iv) finformation about yourself that others know but you
ont.

(v)  Those parts of yourself about which neither you nor
others know.

Code :

@@ (b)) (o (d)
1 @) () @) @
(2) @) @Gv) (v) (i)
G) @) @ G )
(4) (D) (v (iv)

) (i)
s [ JEHANENN 2



48. FET - [ ¥ fIU TU Fudel % YHR F get - 11 H U T3 & T & gafaa FifSe s&f a8 it

AR T

it - 1
a) T Yaell (H3qdei)
)

T el

(d)
(v)
iii) (i)
(
(

i
i)
i

49. gt - 19 feu Tu Siedt fomel gru aumafila safade s & gase &= &1 fiem 9ot - H &

@@ () (o (d)
1 @) ) @) (
(2) @) (v) (v) (@
(3 @) @ 6@
(i) (v) ()

(4)
s ]

et - 11
T TS S MY W T gH o 9N H A ¥
M9 T o 9K H Fa A § AAfohd g bl F5 ot &
ST <A

R, Ygfd, (A A Ta S 119 W F IR H T <,
8 TEL o S |

@E ok TR S G S © Afohd 39 TRl S |
3k HAfeded & o el {99 s § 9 379 9 € 7

T
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50. Match the symbols in List - I with its statistic in List - II :

List - I
@ X
(b) o
© n
d S
(€ r
f X2
Code :

(@ (b) (o)
1) @) (v) (vi)
(2) () (v) (i)
(3) (i) (iv) (vi)
4)  (vi) (v) (i)

s [ JEHANENN

List - I1

(i) Chisquare

(i) Population mean
(iii) Sample mean
(iv) Standard deviation of sample
(v) standard deviation of population
(vi) Standard score
(vii) Pearson’s Correlation.
(e) (f)
(vii) (iii)
(vii) (i)
(vii) (i)
i  (vii)
-00o0-
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50. e - ¥ fSU Uciiehl 0l Gt - 11 H SHeh! AT o 91el GafAd hifg

(a)
b)
<)
(d)
(e)
(f)

(
(

< :

pass [N

el - 1

X

18

S

I

X2

(@ () (o
i) (iv) (vi)
(i) (v) (1)
(iii) (iv) (vi)
(vi) (v) (i)

Tt - 11

FE- TR

A H1eg

EIRER I

T faaed gfieet
HAE o1 A fereer

-00o0-
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Space For Rough Work
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